S.I. Mini quiz:  Knowledge Assessment.
Name:  

[image: ]





















Understanding the Periodic table
1)  Which of the following is the most electronegative element on the periodic table of elements?
A) Oxygen
B) Caesium
C) Francium
D) Fluorine

2) Which term best explains the relationship between Cu (Copper) – 63.54amu and Cu – 65.98amu?
A) Isomers
B) Enantiomers
C) Isopaths
D) Isotopes

3) Which term best describes the relationship between Be, Mg, Sr, and Ba?
A) All react vigorously with liquid Zn. 
B) All are alkaline earth metals
C) Have the same number of valence electrons
D) A & C are correct
E) B & C are correct 
[image: ]
4) What kind of bonding is occurring in the compound to the right?
A) Ionic bonding
B) Covalent bonding
C) Metallic bonding
D) More than one answer is correct
5) Which of the following is non-polar overall?
A) [image: ]    B) [image: ] C) [image: ] D[image: ]

E) More than one is correct 

6) Which of the following will dissolve in a hydrophilic solvent?
A) [image: ]    B) [image: ] C) [image: ]D) [image: ]
E) More than one is Correct 

[image: ]
(Please remember that the Phosphate group is highly polar and 
always written different than shown above in questions 5 & 6.
Image and formula listed below.  However, answer questions 
5 & 6 based on the structures given.)
OPO32-
7) The amount of heat that must be absorbed or lost for 1g of a substance to change its temperature by 1 degree.
A) Calorie
B) Heat 
C) Specific Heat
D) Heat of vaporization
Basic Scientific Chemistry
8) Calcuate the molarity when 75.0 grams of MgCl2 is dissolved in 500.0 mL of solution.
A) 1.57 M
B) 0.00157 M
C) 0.788 M
D) 393.90 M

9) 100.0 grams of sucrose is dissolved in 1.50 L of solution. What is the molarity? (Formula for sucrose is C12H22O11)
A) 0.292 M
B) 3.26 M
C) 1.195M
D) 0.194M

10) A 6 g of Sucrose is dissolved in 350 mL of water.  What is the Molarity of the final solution? (Formula for sucrose is C12H22O11) 
A) 0.0501M
B) 5 x 10 ^ -5 M
C) 0.350 M
D) 0.1501 M

11) How many grams of KMnO4 are needed to make 500.0 mL of a 0.200 M solution?
A) 0.1g
B) 15.8g
C) 15800g
D) 1.58g
12) Which of the following elements are capable of forming a Hydrogen (H) bond in the presence of Hydrogen?
A) Oxygen
B) Nitrogen
C) Carbon
D) A & B 
E) B & C

Group Work Questions
13) Milk of Magnesia has an approximate pH of 10, what is the [H] (hydrogen ion concentration) and pOH of milk of Magnesia?

14) Human blood has an average pH of 7.4 under normal physiological conditions.  What is the Molarity of Hydrogen ions in human blood?
image6.png
(0]

Water (H,0)




image7.png
D-glucose




image8.png




image1.png
Telum

1 2
H He
3 4 5 10
Li | Be B|{C|N|O|F|Ne
" 12 13 14 15 16 17 18
Na | Mg Al|Si| P | S |CI|Ar
potassium calcium scandium fitaniurm vanadium | chromium | manganese: iron cobalt nickel copper zinc gallium ‘germanium arsenic ‘selenium bromine: krypion
19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36
K | Ca Sc|Ti|V |Cr|Mn|Fe|Co| Ni|Cu|Zn|Ga|Ge|As|Se|Br|Kr
37 38 39 40 4 42 43 44 45 46 47 48 49 50 51 52 53 54
Rb| Sr Y | Zr |Nb|({Mo| Tc |Ru|Rh|Pd|{Ag|Cd| In |Sn|Sb|Te| | | Xe
55 56 57-70 ul Tx 73 74 75 76 7 78 79 80 81 82 83 84 85 86
Cs|Ba| * |[Lu|Hf | Ta| W |Re|Os| Ir | Pt |[Au|Hg| Tl |Pb| Bi | Po| At | Rn
132,91 137.33 174.97 178.49 180.95 183.84 186.21 190.23 192.22 195.08 196.97 200,59 204.38 207.2 20898 [209) [210] [222)
87 88 89-102 103 105 106 107 108 109 110 112 114
Fr |Ra|* x| Lr | Rf | Db | Sg | Bh | Hs | Mt |Uun|Uuu|Uub Uuqg
[223) [226] [262] [261] [262] [266] [264] [269) [268) [271] [272) [277) [289)
*Lanthanide series 58 59 60 61 62 63 64 65 67 68 69 70
La|Ce| Pr|Nd|Pm|{Sm|Eu|Gd|Tb |Dy |Ho| Er |Tm|Yb
138.91 140.12 140.91 144.24 [145] 150.36 151.96 157.25 158.93 162.50 164.93 167.26 168.93 173.04
**Actinide series 89 90 91 92 93 94 95 96 97 98 99 100 101 102
Ac| Th|Pa| U [Np|Pu|Am|Cm|Bk | Cf | Es [Fm|Md| No
[227] 232.04. 231.04 238,03 [237) [244] [243) [247) [247) [251] [252) [257) [258) 1259





image2.png




image3.png
SR e—

" ST




image4.png




image5.png
Ethanol





